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Which of the following options will make the

second pair analogous to the first pair given as:
(‘\ Y

Sleep: Insomnia :: Memory: ? (UP POLICE

2020)
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Select one of the following four options that will make the
second pair analogous to the first

PARROT : GREEN :: CROW : ? (UP
POLICE 2020)

(A)
YELLOW/dteT

()
RED / 9T



Q. 3Fwfrtea = oot § 9 39T =97 fifeo
N o -~ _O\ N o =N O\
ST GET SIS T &l Tgetl SISl & T JATus|

S N

[ETRTAT © TEdeh o2 [a=merd @ ?

Select one of the following four options that
will make the second pair analogous to the
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Which is the odd one out among the four options?

(UP POLICE 2020)

(A) 18%1
(B) K%61
(C) 45%3

(D) 52%7
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Select the option that is the odd one out
among the given fpyrepy
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(A) AZ

(B) EU
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(C) HS
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Select one of the following four options that will make the
second pair analogous to the first pair.

Circle : Circumference:: Polygon : ? (UP

POLICE2020) \/ «
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Select one of the following four options that will

make the second pair analogous to the first pair.
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(A) 763990

(B) 294569
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Select one of the following four options that will
make the second pair analogous to the first
pair.

Join: Break: : Marriaoce : ? (UP

Divorce/ T«Teh
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Three out of the given four codes are similar. Find
the odd one out.
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(A) RED7% S
(B) PINK4#

(C) YELLOWG&
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Select the related word from the given
alternatives./

Wife : Husband :: Brlde ? (UP
POLICE 2019) :
7 (A) Marriage / 9TTat
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Love / 99

(C) Man
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Select the related number from the given
alternatives.
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Select the related word form the given

alternatives :

ﬁQI;@ullets \.Tdrch : ?
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(B) Darkness / 4T
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Each one of the following options consists of pairs
of words. Choose the best pair to match with the
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(A) Cow : Stable
T : 3Edao u
L

(B) Lawyer :
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Select the alternative that is related to the
third terun the same way as the second
term is related torthé first term:
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